
1. (b) The little girl was crying as she had lost her way
while gathering flowers for a garland of goddess Durga,
who she believed, would help her parents to overcome
their poverty.

2. (c) The pine tree wanted the little girl to spend the night
in an open cave-like place under him.

3. (b) The little girl was disappointed because the flowers
that she had gathered the previous night lay withered on
the ground and she could not make a garland from them.
To make her happy the pine tree wrapped its branches
around the nearby flower trees and shook them gently.

4. (a) The story teaches us the lesson to be gentle and
kind to others and help those in need. It also teaches us
that devoting faith in the almighty always gives us positive
results.

5. (b) Group ( Among the cluster of trees, there was a very
tall pine tree)

6. (b) Coming close (One day late in the evening, the pine
tree saw a ragged, skinny girl approaching him)

7. (c) Dangerous (The litttle girl was frightened of wild
animals)

8. (b) Shrunk (The flowers lay withered on the ground)
9. (b) The most appropriate title will be the Pine Tree.
10. (a) True
11. (a) Vitamin C (A serving of 2 Kiwi fruits has twice the

Vitamin C of an Orange.
12. (b) has the best nutrient density ( Kiwi fruit has also

been considered a "nutritional all-star," as Rutgers
University researchers found that kiwi fruit has the best
nutrient density of 21 commonly consumed fruits)
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13. (c) It supplies eyes with protective lutein (A kiwi fruit
also doubles as a peeper-keeper by supplying your eyes
with protective lutein, a carotenoid that's concentrated in
eye tissues and helps protect against harmful free radicals)

14. (c) Place it in a paper bag with an apple or banana (To
speed up the ripening process, you can also place kiwis
in a paper bag with an apple or banana)

15. (a) a banana does ( A Kiwi fruit has potassium as a
banana)

16. (d) A ripe kiwi fruit will be plump and smooth skinned,
and free of wrinkles, bruise, and punctures

17. (d) Chinese Gooseberry
18. (a) True
19. (d) Would (it's a modal that shows possibilities and is

the past form of will)
20. (b) Can (it's a modal that shows possibilities)
21. (a) Past perfect tense (rule of this tense is had + past

participle)
22. (b) Has been (it is present perfect tense rule: has/have +

past participle)
23. (b) She asked if she had taken part in the competition.
24. (c) Raza asked him if he would go to the pictures with

him.
25. (b) Both 1 & 2
26. (c) Introduction, body and conclusion
27. (c) We divide analytical paragraph into three parts
28. (c) A form of descriptive writing
29. (c) An analytical paragraph is written in 100-120 words.
30. (a) In Jan 2002, the sales stood at 200 million dirhams.
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31. (b) Peggy and Maddie noticed the absence of Wanda in
the class.

32. (a) Peggy was popular in her school because she was
pretty, her hair was curly and she had many pretty clothes.

33. (a) They used to wait for her to have some fun.
34. (b) The word is - track. (Who didn't track in a whole lot

of mud, did notice that Wanda wasn't there)
35. (c) Past Participle of wait is Waited
36. (c) Maddie is 'She' in the passage.
37. (c) Maddie studied the drawing intently.
38. (b) Wanda had made that picture.
39. (b) The word 'intently' means same as deeply.
40. (d) The synonym of vivid is Lifelike
41. (c) The noble wild beast is Bengal Tiger here.
42. (a) This beast looks like it is coloured with black stripes

on a yellow ground.
43. (c) The word 'discern' means same as to recognize.
44. (a) 'How to Tell Wild Animals' is the title of the poem.
45. (b) The poet is Carolyn wells.
46. (a) The leopard can be recognised by its spots on the

skin.

47. (a) Bengal Tiger has black stripes on a yellow ground
while the Leopard has round black spots on the body.

48. (c) 'Leopard' is a large animal of the cat family
49. (d) The antonym of  leap is Fall.
50. (d) The antonym of beast is Idol.
51. (c) Horace's first thought was to run.
52. (d) Horace thought of her as owner's wife as she was

confident, she knew the place well and Sherry rubbed
against her. Hence all of the above is the correct answer.

53. (d) None of the above
54. (d) Victor canning is the author of 'A Question of Trust'.
55. (a) Horace Danby made a theft only once in a year.
56. (d) The servant at Shot over Grange had gone to the

cinema that afternoon.
57. (d) He changed his name in order to stay ahead of both

of them.
58. (c) Hari singh was the name that he told Anil.
59. (a) Make a low inarticulate sound.
60. (d) On the first night the meal cooked was 'Terrible'.


